3.1 Lines and Angels (Identifying and Classifying)
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3.2 Angles Formed by Lines and Transversals (Proving with Theorems)
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3.2.2 Alternate Interior Angle Theorem: If two parallel lines are cut by a transversal, then the pairs of alternate interior angles are congruent.
Conclusion: Angles 3 and 6 are congruent 
                      Angles 2 and 7 are congruent


3.2.3 Alternate Exterior Angle Theorem: If two parallel lines are cut by a transversal, then the pairs of alternate exterior angles are congruent.
Conclusion: Angles 1 and 8 are congruent 
                      Angles 5 and 4 are congruent


3.2.2 Same-Side Interior Angle Theorem: If two parallel lines are cut by a transversal, then the pairs of same side interior angles are supplementary.
Conclusion: Angles 3 and 2 are supplementary
                      Angles 6 and 7 are supplementary





3.3 Proving Lines Parallel
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The Converse of the Corresponding Angles Postulate is used to construct parallel lines. The Parallel Postulate guarantees that for any line ℓ, you can always construct a parallel line through a point that is not on ℓ.
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3.4 Perpendicular Lines

The perpendicular bisector of a segment is a line perpendicular to a segment at the segment’s midpoint.
The shortest segment from a point to a line is perpendicular to the line. This fact is used to define the distance from a point to a line as the length of the perpendicular segment from the point to the line.
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3.5 Slopes of Line
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3.6 Lines in the Coordinate Plane
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Slope of a Line
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Slopes of Parallel and Perpendicular Lines
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Parallel, Perpendicular, and Skew Lines
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TERM EXAMPLE
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angles lie on the same side of the transversal t,
between lines r and s.
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